Hoofdstuk 6 - Logaritmen

Opdracht 1
a 4x32=2?x2°=27 =128
b. 2048:64 =211:28=2°=32

c. 256 =«/2_8=24 =16

Opdracht 2

1
22
b. *log(256)=4 = x* =256 = x =256 =4

a. Zlog(x)=—2=>x=2"%=

N

1 1 1 _
c. Slog(—jzx:SX = =5 =5 =53 x=-3
125 3

125 5

Opdracht 3

log(1087) ~ 3,0362

b. log(10,23) ~ 1,0099

c. log(n)~3,0913 —» 1234
d. log(x)=2,0913 —» 123,4

[+]

Opdracht 4
a. 14:12
1,1461-1,0792 = 0,0669
0,0669 — 1,1665
b. V147
147 — 2,1673 — delen door 2 geeft 1,0837
1,0837 —» 12,125

Opdracht 5
L2. L3.
logb

Te bewijzen: ?logh = Te bewijzen: ®log(b”)=p- ?log(b)

loga

a
2" loglb) _p

Iog(aalog(b)j =log(b)

®log(b)-log(a) =log(b)
_log(b)

log(b) og(a)

Opdracht 6
a. 3Iog(243)= 3 Iog(35) =5

1 1 1
log(32) = 2log(2°) = 2

N |-

b.

L4.
Te bewijzen:aalog(b) =b
Gebruik L1: ?log(b)=c<>a“ =b

*log(b) = ?log(b)



Opdracht 7

Inkgrseckion Inksrseckion
nseBEnf ez IY=-1.775a0e = — I
Opdracht 8
5 A 109¢5r-1ag21+1a
a. “log(8)+ "log(16)=3+2=5 CION-FESTICY =
lo9¢32-109g, S
b. °log(32)- *log(32)=—5-5=—-25 139':32:-x139|:2:>_25
Opdracht 9
a. %log(6)~2,585
b. 3log(6)~1,631
c. log(6)~0,778
Opdracht 10
a. b.
8log(x)=0
x=1
(1,0)

[

InkgFseckion
n=1

23

c.
Ja.

lim log(x) = —o0
x{0



